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A(t)
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A(t)A−(t)A(t) = A(t).
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[0, 1]
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rank A(t) = deg det(λA(t) + K(t, t)) = k = º�»�¼�½�¾
∀t ∈ [0, 1].¿/���|�ÁÀ �
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[0, 1] Ä�Å ��¶Æwyz det(A(t) + V (t)K(t, t)) 6= 0 ∀t ∈ [0, 1].¿/���|�ÁÀW#
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rankA(t) = deg[det(λA(t) + K(t, t))] = k = º�»�¼�½�¾ ∀t ∈ [0, 1];Î�Í
V (0)K(0, 0)a = (V (t)f(t))′|t=0;Ò Í
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K(t, t) 6= 0 ∀t ∈ [0, 1].
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Ai+1(xi+1 − xi) + h2
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∑

j=1

Ki+1jxj = hfi+1, x0 = a, i = 0, 1, ..., N − 1. �����
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(Ai+1 + h2Ki+1i+1)xi+1 = Ai+1xi + hfi+1 − h2
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j=1

Ki+1jxj, (5 � )

x0 = a, i = 0, 1, ..., N − 1.
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(Vi+1fi+1 − 2Vifi + Vi−1fi+1), i = 1, 2, ..., N − 1.
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